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Reason for change:
A serious error was accidentally introduced in the definition of the RLC receive state array V(N) by CR 04.60-A454 (agreed at SMG2 #32 in Tdoc SMG2 1323/99). If RLC receiver equipment were implemented with this error, it would effectively erase the acknowledgements of correctly received RLC data blocks in the Ack/Nack Description sent to the sending RLC entity, for all BSN values up to the value of V(Q), i.e., [ V(R) – k ( BSN < V(Q) ] modulo 128. Such behaviour of the receiving RLC entity may cause the TBF into a permanent stall condition, preventing any successful data transfer.




Summary of change:
The expression in sub-clause 9.1.7, defining the range of elements in V(N) that shall be set to state INVALID, is corrected.




Consequences if not approved:
Presently, GPRS equipment seems to be implemented according to the original requirement in sub-clause 9.1.7 (before the error was introduced). It means that there is an inconsistency between the specification and actual implementation. The specification is incorrect. If equipment were implemented with the present error in the specification, they would not be able to operate.
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9.1.7.1
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 O&M Specifications





Other comments:


Comprehensive information and tips about how to create CRs can be found at: http://www.3gpp.org/3G_Specs/CRs.htm.

9.1.7
Receive state array V(N)

9.1.7.1
Receive state array V(N) in GPRS TBF

Each RLC endpoint receiver shall have an associated receive state array V(N). V(N) is an array of SNS elements indicating the receive status of WS previous RLC data blocks. The array is indexed relative to the receive state variable V(R) modulo SNS. When an RLC data block is received with BSN such that [ V(Q)£ BSN < V(R) ] modulo SNS, the corresponding element in V(N) is set to the value RECEIVED.

When an element in V(N) falls outside of the active window (i.e., [ V(R) ( BSN < V(R) ‑ WS ] modulo SNS) the element is set to the value INVALID.

9.1.7.2
Receive state array V(N) in EGPRS TBF 

Each RLC endpoint receiver shall have an associated receive state array V(N). V(N) is an array of SNS elements indicating the receive status of WS  RLC data blocks that are supposed to follow the block BSN=V(Q)-1. The array is indexed relative to the receive window state variable V(Q) modulo SNS. When an RLC data block is received with BSN within the active window i.e. such that [ V(Q)£ BSN < V(Q) + WS] modulo SNS, the corresponding element in V(N) is set to the value RECEIVED (the RLC data block has passed FCS). 

If the RLC data block is split over two radio blocks, the element shall be set to the value RECEIVED if and only if both radio blocks have been received. 

When an element in V(N) falls outside of the active window (i.e., [ V(Q) + WS ( BSN < V(Q)] modulo SNS) the element is set to the value INVALID.
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